e - T

'i' L [ T ¥
r )] F N | ".l L{lfr!l'l-" L.. [.l'“'rl |“-||_1.|rl 1T "l"'" H-‘{rl i [H |.” Jr__JT! “ E’I‘lrhnll
1.

il salien!l lealuies ol (i ||.|Ii||;'l|hl1l architeciure l-'"-[!'-u'Jr-:'r |

"“ o "
[ s unss 'Tﬂ‘l,l

I}

apat & it A e qr sl wham b |

1 i
(gee 150 ¥l 0 i)
byamne the man aspects of Akp, s religious syncretisi, (Answer i1 181 wort
1)
1 it A 0T T EG A g fy A= S ARHLE A D e fgy

"y 'Eﬁf"n’l'fl =L L 1500 Eﬂi-i"[ u i_‘f‘l‘ﬂ“‘:}

“The .,'-.I...'"Ll.l.lﬂl.]ﬁ ﬁ”l:d the [_1J1I’|.I'Idi:![-.1 ul1|i'll‘l'|l with resilient VIEOr and h]'cadth of
Iife.” Flucdate. (Answer an 150 yonds) L)

/ g B TN F M waf fifan g (390150 WR A A

How are chmate change and the sy jevel nise alfectng the VETY existence of
many island nations 7 Discuss wigly examples. (Answer 1500 wards) 11]
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What are non-farm pnmary activities 7 Jlow are these activities related 1o

physiographic features m India? Discuss with suitable examples,
(Answer 150 words) T

gk RO & A, W # @R s gemw & oftfefee i sfls and
& wn A anen fIfm | (smeo1so = A dHfan)
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Explan briefly the ecological and economic benefits of solar enery generation
i India with suitable examples. (Answer i 150 words) i
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What are Tsunamis 7 How and where are they formed " What are  their
consequences ! Explain with examples (Answer i 150 words) (b
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The ethos of © tonalistic ¢ Mand for \
- unaliﬁﬂ'l with na n"“‘m-l&ness CElie LOmbinato-
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Do you think that globalization resulys ;p, only an
Justify your answer. (ARSWET M 150 gop)

1. Wi‘ﬁ-'“@*mwmmﬁ‘ﬂ%m#mmﬁﬂ
s wma & et # TR W S (o 250 W & Hfam)

Mahatma Jotirao Phule’s writings and efforts of social reforms touched 1ssues
of almost all subaltern classes. Discyss. (Answer m 250 words) 15

AgEressive consumer ey,

. e, wd s, ok sl w3 fm g v s
7 A W AR § G ﬂmm@h%|[mzs¢;:@ﬁh,
Trace India’s consolidation process during carly phase of independence in 1o
of polity, cconomy, education and international relations. (Answer 1 250 words)
B wwne G & fan s wfE f R w2 oam e
T (3W 250 i oA )

The French Revolution has endunng relevance 1o the contemperary world
Explain. (Answer in 250 words) 3

M Ra T ywdm A s % fam @ it e G 3 e
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Give 4 geopraphical explanation of the dismbution of off-shore oil reserves
of the world, How are they different from the on-shore occumences of i
resenes T (Answer in 250 words) ;
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How can Artificial Intelligence (Al) and drones be effectively used along wr,

GIS and RS rechmiques m locanongl and areal planning
(Answer 250 words) ;

™ a#ﬂﬁﬂ.ﬁﬂkmﬁﬁwﬁmiﬁﬁtmbﬂ?mfﬂsn
i, wem gt @ retE affufudt & o, ofeds da e B
(7 20 W # difan)
Discuss how the changes in shape and sizes of continents and ocean batins

of the planet take place due 1o teciopic movements of the crustal masses
(Answer m 250 words) 15
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Discuss the distmbution and density of population in the Ganga River Basn

with special reference 1o land, soil and water resources. (Answer in 250 words)
15
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- drfan ) (3w 250 wep # dfm)

How do you account for the growing fast food industrics given that there are
increased health concems in modern society ? Tllustrale vour answer with the
Indian expenence. (Answer in 250 words) 1

19, T e W AR 3 T w faam wfm =, owm W b § e
A dE §@ AR F A ad A oA e R froeq difm
(77 250 e # )

Achieving sustainable growth with emphasis on environmental protection could
come mto conflict with poor people’s needs in a country like Inda - Comment

(Answer in 250 waords) 13
20 o A wada faaw @ oo, farm shograie & -l ¥ 2
i
awA faap L FThI1'| (F1 250 qﬁﬂ b -'Tf.ﬂ'l
Does nibal de velopment i India centre around two axes, those of displacement
and of rehabiltation 7 Give your opimion (Answer i 250 words) 15
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